The Debate Over Capitalism & Socialism-What Kind of Equality Do We Want
By Grace Hemmeke

In 1975, Margaret Thatcher gave a speech in New York regarding the growing interest in socialism in
Great Britain. Many members of Parliament favored a socialistic government because it valued equality of
outcome, and was seen as a solution to the bankruptcy their country was facing. Prime Minister Thatcher
argued against the idea of equal outcome in her speech, saying, “You've got to balance equality with equality
of opportunity. The two are entirely different. Equality is one thing. Equality of opportunity is anoth-
er.” (Margaret Thatcher, 1975, para. 49)

One of the great debates in our society today is the debate concerning government intervention in the
economy and in society. People examine the possibility of an American socialist economy as a solution to the
poverty problems our country, just as they did in the 1970s. Socialism is still seen as a solution that would
ensure an equality of outcome in the wealth of our nation and in the way the government takes care of the
people. This debate between socialism and capitalism has gone so far in America that it has now made an
appearance on the stage of American presidential candidates.

Socialism, simply stated, is an economic system in which the means of production are owned by the
state. The socialist’s goal is to create equality in both opportunity and outcome. Many people today are looking
towards socialism as a solution to the issues of healthcare and housing and poverty.

In a capitalist country, the means of production are owned privately, and the state ideally does not
intervene with the market forces. Capitalism does not try to create equality, but rather tries to drive businesses
to create the cheapest, highest quality goods and services for consumers.

Those who support a form of socialism, or democratic socialism, argue that it will help to reduce the
disparity between classes, between the rich and the poor by redistributing the wealth of the country. American
values outlined in the Declaration of Independence tell the world that Americans believe all men are created
equal. This does not mean that we believe all men should have equal status and wealth. Leaving the economic
question of socialism aside, we must ask ourselves, do we want a population of millions, created equal and
ending in what the democratic socialists call, “an equal outcome”? What will that equal outcome look like?
Not what Karl Marx envisioned. The reality of the Soviet Union and its downfall is a bucket of cold water to
throw on any revolutionary spark. All the equal outcome they could provide was equal poverty and bread lines.

Socialism is people asking the state to solve their problems, to house and feed and clothe and sustain
them. But the state was never equipped to solve the problems of the people, it was never equipped to take care
of the people in that way.

One of the major issues with the socialist school of thought is the implied heavy government control.
Heavy government interference in the market in the name of Equality is a recipe for the same collapse that
Soviet Russia saw. Even if a country pursues a middle path and does not completely give the means of
production to the government, they may give the government too much power over the economy. In America,
the Constitution specifies what power the government does and does not have. One of the powers that the
government does not have is power over the economy. The economy works by itself to reach equilibrium.
While there are precedents for small government stimulations, it must be understood that no economy ever
recovered from a major depression or recession because the government undertook extreme interventions and
policies. Instead of arguing for a socialist economy, we should put limits on the government’s power to
influence the economy.

Thomas Sowell explains that, “One of the great appeals of socialism, especially back when it was
simply an idealistic theory without any concrete examples in the real world, was that it sought to eliminate
these supposedly unnecessary charges, making things generally more affordable, especially for people with
lower incomes.” (Sowell, 2007, pg. 110). The theory is that socialism will remove profits and make things
more affordable because of the lower prices. The people would be able to spend less, and the businesses would
be controlled by the state, which would have no need to make a profit.
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But, Thomas Sowell continues, “Only after socialism went from being a theory to being an actual
economic system in various countries around the world did the fact become painfully apparent that people in
socialist countries had a harder time trying to afford things that most people in capitalist countries could afford
with ease and took for granted.” (Sowell, 2007, pg. 110). Soviet Russia is one of the most famous historical
displays of this contrast.

In Soviet Russia, the government controlled and dictated what the production managers produced and
how they produced it. Because of this, those managers were able to produce the same products the same way
for years. They were not forced by the consumers to change the quality of their products. Innovation was
unnecessary. The government would keep them in business regardless. The manufacturers were not forced by
the market to produce quality goods as efficiently as possible, so they ended up selling low quality goods
which were produced at a much slower rate. The government had a monopoly on production. Without
competitors, they had no reason to keep their prices low. The monopoly they will have will stop the need for
innovation and will cause the rise of prices and a drop in the quality of goods. The demand will stay the same,
but the government will not face any ill effects if they don’t meet the demand. Unlike a salesman who works
on commission, whose life and livelihood is due almost entirely to the customer and the service he gives his
customers, the government will be able to protect themselves and stay in business without needing to provide
excellent service to the consumers.

It was Adam Smith who said of competition, “In general, if any branch of trade, or any division of
labour, be advantageous to the public, the freer and more general the competition, it will always be the more
$0.” (Smith, 1776, pg. 329) When the market is free, we can see the economy improve. Competition helps
businesses find better ways to produce better goods. The price level is lowered by the market as businesses
compete. Consumers are given more and better products at lower levels. Then we see the free market move
towards equilibrium, we see the market right itself, pull itself out of recessions. It is the competition that keeps
the quality of goods high and the prices low. In a capitalist economy, the customer can choose which business
to buy goods from, forcing the businesses to sell the best possible product at the lowest possible price. If
enough customers stop buying from one company, that company will go out of business.

The incentive of the free market and capitalism is profit, but in order to be able to make that profit,
business owners, entrepreneurs, and workers need to be able to innovate. Jeffery Dorfman, in Forbes Magazine
writes, “Economic rewards ...encourage businesses to invent things consumers don’t even know we need...
The rewards to those who correctly guess the mood of enough consumers are sufficient to make many of them
rich. This encourages innovation and enriches consumers by much more than any financial rewards to the
innovators themselves.” (Dorfman, 2016, para. 5). The fear of businesses is going out of business.

While the capitalist economy must continue to compete to produce high quality, low cost goods and
services in order to stay in business, the socialist economy, with its government controlled means of
production, does not have that fear. Their business will continue, no matter how poorly they make their goods,
or how slowly they deliver them. Go to the DMV, wait in line for a number plate or a driver’s license. That is
the speed at which the government is capable of delivering goods and services. The outcome is equal, the
service impossibly slow, and the customer satisfaction will never be a priority.

Capitalism is not a perfect system, but unlike socialism, it gives everyone an equal opportunity of rising
out of their poverty. The equal outcome promised by socialism is unattainable because people were not created
with identical talents and interests in the first place. It’s the differences that help us to create a market that can
satisfy so many millions of consumers and needs. As Margaret Thatcher put it, “The pursuit of equality itself is
a mirage. What’s more desirable and more practicable than the pursuit of equality is the pursuit of equality of
opportunity. And opportunity means nothing unless it includes the right to be unequal and the freedom to be
different. One of the reasons that we value individuals is not because they're all the same, but because they're
all different.” (Thatcher, 1975, para. 42)
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